Graphing Using Intercepts
· As we have seen, the equation of a line is sometimes given in the form Ax + By + C = 0. In order to graph this, we can first change it to y = mx + b form.

· Alternatively, we can graph Ax + By + C = 0 by finding the x-intercept and y-intercept.

EX/ Determine the x- and y-intercepts for the following lines, then graph them. 
a) 2x + y = 4





b) 3x – 4y + 12 = 0
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EX/ The graph shows the relationship between the number of sunflower seeds left (n) vs. time (t in hours).

a) Determine the n and t intercepts, and explain what they represent.

b) Calculate the slope of the line, and explain what it represents.

c) Determine an equation that connects the two variables. (think y = mx + b)
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